
Selection mdark = 5 GeV mdark = 20 GeV mdark = 50 GeV mdark = 100 GeV
pT(J1,2) > 200 GeV, η(J1,2) < 2.4 77.1 70.4 65.8 62.4

RT > 0.15 33.8 37.1 39.8 41.3
∆η(J1, J2) < 1.5 83.3 85.0 85.6 87.0

mT > 1.5 TeV 54.5 47.3 43.6 36.6
Nµ = 0 99.6 97.4 96.0 96.4
Ne = 0 99.8 99.5 99.3 99.2

pmiss
T filters 99.9 99.9 99.9 99.8

∆R(j1,2, cnonfunctional) > 0.1 95.2 95.3 95.7 95.7
veto fγ(j1) > 0.7 & pT(j1) > 1.0 TeV 99.9 99.9 100.0 100.0

∆φmin < 0.8 93.5 90.6 84.7 72.6
Efficiency [%] 10 8.8 7.5 5.4

high-RT 39.0 42.5 43.6 45.0
low-RT 61.0 57.5 56.4 55.0

high-SVJ2 13.7 29.5 15.8 3.7
low-SVJ2 21.7 40.6 22.5 4.9


